November 20, 2013

Simplify.
1. -1(5)

R

4. -1(-x)

Mu Wiply
Elgebra 4-5: The Opposite of a Sum or Differena X = +‘
+X4) = t
Warm-Up (_; -:3 _: -
2. -1(-3) 3. -1(y)
5. -1(5x) + 6y 6. -1(4y) - (-1)(3y)

‘5x+loc5




November 20, 2013

Algebra 4-5: The Opposite of a Sum or Difference

Fill in the blank.

If there is no number in front of a variable, then we assume it is

-m=’{L+‘/Q

i@-9=-la . C
~-llar-)= -+ €
Exa S
Simplify.
1. -(k +23) 2. -(6c-5) 3. By+8)A2y-7)
~K=232 —~Lct+ S

!%1
) I (be=5)
J5) (@' 3y+4-2
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4. —! 4x - 13) + (-5x-3)

‘l[(.’-E_ +=-5¥xX -~ 3

G

-9v +10

Solve and check.

6. 472 -|(9 + 237) = 3
472~9-232=1
X2-9=
44+ A
2.
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7. -3 (y- 6) -|(2y + 8) = 20
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